
Blatt 4
Ergänze die Rechenzeichen und berechne die Ergebnisse

Addition Subtraktion      Multiplikation Division

1356 1235 9135 3  = 956 : 4  =
13565 194

56936 913593
93136 9139 9836 19  =

56
5613

861 : 3  =
968
913

1356 1993 193  =
1353

913553
183668

91359

45 5439 : 19  =
45463 935,6 19  =

336 9135
13565 4134

1356,13 568356 83,53 9,3  =
93,06 1913

569,01 589 : 9,3  =

31351
91356 9135 38963,3 3  =

9135
9135

193
4539 193193

19134 9899
19135 : 3  =

19135,6 3,89  =
913 91353
938 913

9365


